God.
10 + 6 ‘

ognitive
4+ 12

RERCE

e Nyaya
16

16

187

West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations,
: Part — III

PHILOSOPHY — HONOURS
Paper - VIII
( New and Old Syllabus )

Duration : 4 Hours

PHIA (HN)-08

2013

[ Maximum Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

.

The figures in the margin indicate full marks.

( NEW SYLLABUS )
( Group-A - 50 Marks & Group-B - 50 Marks )
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( ENGLISH VERSION )

Answer Question No. 1 compulsorily and any two from the rest within 600 words each.
s Answer any four of the following ( within 150 words each ) : 4 x5=20
a) Why is Vedantasara called ‘Prakarana grantha’ ?

b) Explain the purpose of Mangalacarana after "Vedantasara'.

c) What are the hindrances in the attainment of the state of Samadhi ?

d) Distinguish between prajna caitanya and turiya caitanya.
e) What is manana ? What is its necessity ?
f) ~ Differentiate between susupti and nirvikalpaka samadhi.

g What is Paﬁcikara'{ta 4

h) Explain the state of Jivanmukta after Vedantasara.
2. Give an account of ‘Sadhanacatustaya’ after Vedantasara.

3. What is ‘Tatparya’ ? Explain the six fold ways of ascertaining ‘tatparya’. 3+12
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4. Elucidate the concepts of nitya, naimittika, kamya and nisiddha karma following
Vedantasara. Which actions are appropriate for liberation and which are not ? Give
reasons for your answer. 8+7
i 5. Discuss how the author of Vedantasara refute Carvaka view that the ‘self is identical
t with the body’. : 15
6. What is anubandha ? Give a short account of the anubandhas of Advaita Vedanta.
4 ; 3+ 12
| ;
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( ENGLISH VERSION )

Answer Question No. 1 within 150 words each and any two questions
from the rest within 600 words each.

& Answer aﬁy Jive of the following : - 5x4 =20
a) Write the differences between ‘knowing how’ and ‘knowing that'.
b) According to Ryle, discuss the concept of self.

i c) Explain the relation between dispositional term and occurrent term.

I d) How can Descartes distinguish man from machine, if ‘official doctrine’ is

accepted ? — Write following Ryle.
Is ‘intelligence’ a kind of 'knowing how’ ? Explain.

What does Ryle mean by the term of ‘Consciousness’ ?

How does Ryle distinguish between intelligent capacities and habits ?
h) What is retrospection ?

2, What does Ryle mean by the official doctrine of mind ? How does official doctrine

commit category mistake ? What, according to Ryle, is the origin of category

mistake ? _ : 5+5+5
3. What does Ryle mean by intellectualist legend ? How does he criticise the ‘Dogma of
: the ghost in the machine’, with reference to this legend ? Discuss. 6+9
|
7 4, What is dispositional statement ? In this regard, explain the single track disposition
i and multi-track disposition. 5+ 10
. 5, How can the concept of volition be explained without admitting a mental substance ?

15
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( ENGLISH VERSION )

Q. No. 1 is compulsory.

Answer any four questions : 4x5=20
a) Prove that the empty set is a subset of every set.

b) What is ‘Binary relation’ ? Write with example.

c) Are the following assumptions mutually consistent ? ( By Venn diagram )

BNC=A
(ANC)~B=A
AHRIy b = A
(ANBIU(ANCIU(BNC) # A
d) LetA1={1.2}.A2={/\},R={<1.2>.<2./\$}
i) Is R a subset of the Cartesian productAlez'?
ii) Is D(R) asubset of A ?
fii) lsC(R)asubsetofA2?

iv) Is F(R)asubsetofAIUAz?
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Distinguish between A and V with example.

Write symbolic definition of symmetric, asymmetric and antisymmetric

relations.

Briefly discuss the relation between Philosophical logic and mathematical logic.

What is the meaning of the term ‘entailment’ in logic ? Briefly discuss.

il SECTION - I e
Answer any one question.

Translate the following sentences into set theoretic notation.
i Never will the dead speak.
i) Any man is attractive if he is dark and tall.
111.) Planets are nine.
If v={1,2,3,4,5} A={l,2f. B={2 3}
what are the following ?
i) AN~B
ii) A AN~A

iii) ~A~(B).

- If A is any set, what are the following ?

i) AN A
i) AUA
iii) A ~ A.

Which of the following are true ? ( for all sets A, B, C)
i If Ae B and BcCthenA cC
i)« If Ae B and BcCthenAe C

ii) If A¢ B and B¢ C then A¢ C.

3% 2:=8




i
1

3. a) Test the validity of the following arguments by Venn diagram : 2x5=10
i) AfQB . c~C
AlUlC B
ANC =A
i) All witnesses are prejudiced. Some witnesses ar(_;,Anot liars.

Therefore, some liars are not prejudiced.

b) If: A =13,58Yand R={<3, 3>:<5H,5>..<8-85)then classify.the
relation according to the properties they do or do not have ( e.g., reflexive,
symmetric, not antisymmetric, not transitive etc. ... ).

SECTION - I1

Answer any one question.

4. a) Use the truth tree method to show that the following two sentences are

logically equivalent.

(3x) Px, - (x)-Px ' 3
b) Use truth tree method to show that the following sentence is a logical truth.
[|H—- (x)Mx] & (x)(H-> Mx). 3
) Test the following arguments for validity by the truth tree method: 3 x3=9
i (X) XLX ‘
alLa
(Ix)Mx—> H

B IR =

iii) Alma does not love all her lovers. Alma has a lover whom she does not

love.

D, Explain Russell's view of entailment theory. In this regard how does C.I. Lewis

identify entailment ? Discuss the paradoxes of Lewis’s theory.
OR

Explain critically, after P. K. Sen, Tarski's theory of entailment. 15
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{ PRACTICAL VEDANTA)
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( ENGLISH VERSION )

;o Answer any four of the following questions ( within 150 words each ) : 4x5=20
a) What is the necessity of self-confidence as an ideal ?

b) How is universal religion established in Practical Vedanta ?

c) How are Atmavada and Nairatmavada reconciled in Advaita Vedanta ?

| : d) What is the significance of Dvaitavada in Advaita Vedanta ?
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e) What is the real nature of man ? Explain after practical Vedanta.

f) How is the concept of self sacrifice deduced from the nature of man ?

g Why do the notion of ‘Eternal Heaven' and °'Eternal Hell' stand self-
contradictory according to practical Vedanta of Swami Vivekananda ?

Answer any two of the following ( within 600 words each £ 2 x 15 = 30

a) How will practical Vedanta bring about the well-being of a society ? Discuss
after Swami Vivekananda.

b) Explain how the anecdote of Satyakama and Upakosala of Chhandogya
Upanisada indicates the practical Vedantic view.

c) What is the justification for accepting ‘Nirguna’ instead of Saguna Iswara in the
Vedantic mind of Swami Vivekananda ?

d) How can Vedantic theory be the basis of ethics ? Explain after Swami

@ 1 srafd e B fu ( 2fof eo xewm@ Mg ) 8

o)
)
)
%)
®
5)
9

)

Vivekananda.

( COMMUNIST MANIFESTO )
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( ENGLISH VERSION )

Answer Question No. 1 and any two from the rest within 600.words each.

1% Answer .au;y Jour of the following Questions ( within 150 words each ) : 4 x5=20
a) What is meant by ‘forces of production’ ?
b) What is class conﬂic;t ? Does class conflict always exist in society ?
c) What is ‘Bourgeoisic democi'acy' ?
d) Whét is the main reason for social change ? Explain.
e) | What is ancient feudalistic society ?
f) Do the Lumpen proletariat belong to the revolutionary ciass 7S
g Who are the capitalist class ? X

h) Elucidate the main difference between utopian socialism and scientific

socialism.

2. “The history of all hitherto existing society is the history of class struggles.” —
15

-
Explain after Communist Manifesto.

3. What is Communism ? Is it inevitable ? : 5+ 10
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Give a brief account of the view of Marx and Engels about private property and

family. 15

What is the significance of the slogan, “Working men of all countries, unite” ? What,

according to Marx, is the international task of the working class today ? 8+7

What is pelitical power ? How will political power be withered away ? 3+ 12
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| ( ENGLISH VERSION )

Answer Question No. 1 compulsorily and any two from the rest within 600 words each.

S
| 1. Answer any four of the following questions ( within 150 words each ) : 4x5=2

a) What should be the object of our prayer ? How did Rabindranath answer this
question in the paper ‘Prarthana’ ? ‘ s

b) Why is it said that the path of attaining knowledge of manhood is very
difficult ?

c) Why is Utsava called the celebration of power ?

VAT d) When Yajnavalka left for forest leaving everything to Maitreyee, what kind of
/\% ~ - dialogue took place between them ? Answer in. brief, following the essay
7 ( ; " ‘Pracina Bharater Ekah’.

/ e) “Truth mainfests itself in Bliss and Bliss manifests itself in Truth.” — Explain.
f) Explain the concept of Brahma-vihara after Rabindranath.
g Elucidate the remark : God has made man complete by giving him misery.

hj How does Rabindranath explain the Upanisadic dictum, ‘Know myself ?

2. “Flowerness is easy for flowers but humanism is not easy for human being"

( Manusyatva ). Why does Rabindranath hold this ? Explain after him. 15
3. How are the four ashramas conceived by Rabindranath ? 15

4. . IEERE b the opposite of perfection is void, but imperfection is not opposed to.
perfection, rather it is the culmination of perfection.” ( Dukhah ) By taking which
examples has Rabindranath developed this idea ? - 15

9. What is the distinction between the European concept of freedom and Indian concept
of freedom ? Write follbwing the essay, “Tatah Kim”. : 15
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- ( PRACTICAL & ENVIRONMENTAL ETHICS )
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( ENGLISH VERSION )

5 Answer any four questions ( within 150 words each ) : 4x5=20 1
a) What is the difference between suicide and killing ?
b) Does a human acq{,xire human rights ?
c) What do you understand by 'just war’ ?
il
b d) What are the different types of euthanasia ? Discuss.
E . - & St
‘ e Explain whether killing animal is morally wrong.
| ,
f) “No one is born a woman, she becomes a woman.” — Who made this

statement ? Explain the signiﬁcénce of the slatement.

1 - g What do you mean by the ends and means of a war ?

| hj State the forward-looking arguments in fav-our of Reservation.
i) Distinguish between §hallow ecology and deep ecology. .
b, What is meant by racial discrimination ?

Answer any two questions ( within 600 words each ) :

2 What do you mean by feminism ? Explain liberal feminism in this context. 7+8

3. What do you mean by terrorism ? Is terrorism ethically permissible ? 3+ i2

4, Give an accepted definition of suicide. State and explaiﬁ the arguments in favour of

suicide. 3+ 12‘

: 5. What is the cause of discrimination in society ? Do you support the principle of

reservation as a means of compensating discrimination ? 3+ 12

-
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( ENGLISH VERSION )

Write an essay on any one of the following topics of Indian Philosophy ( Within 1500

to 2000 words ) : 25
a) Features of Indian Philosophy

b) The idea of ‘self in Indian Philosophy

c) Satkaryavada vs Asatkaryavada.
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d) Nature of Abhava in Vaisesika and Mimamsa Philosophy

e) Eight-fold paths of Yoga vs Eight-fold paths of Buddhism.

2. Write anﬂéssay on any one of the following topics of Western Philosophy ( Within
1500 to 2000 words ) : : 25

a) Rationalism vs Empiricism regarding origin of knowledge
b) Realism vs Idealism |
c) Entailment theory vs Constant conjuncﬁon 'theory

d) Rationalist’s view on the concept of substaﬁce

€} Kant's Critical theory.
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( OLD SYLLABUS )
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( ENGLISH VERSION )
Answer Question No. 1 and any five from the rest.
E: Answer any four of the following : 4 x5 =20
a) Explain the purpose of mangalacarana after the text Vedantasara.
b) What is meant by Vedanta ?
c What is Pancikarana ?
d) What is the distinction befween prajna caitanya and turiya caitanya ?
e) What is Suksma sarira ?
f) How is Caitanya ( consciousness ) explained both as nimitta ( efficient ) and
upgdana ( material ) karana ?
i g What is called adhyaropa-apavada nyaya ?
h) What is the distinction between jivanmukti and videhamukti ?
; i) ‘ What are the hindrances in the way of attainment of the state of Samadhi ?
2. a) What is the meaning of anubandha of a sastra ?
b) Whét are the four anubandhas of Advaita Vedanta ?
c) Explain the definition of adhikari as stated in Vedantasara. 4+6+6
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: a) What is Tatparya ?

Y
b) What are the six means of ascertaining it ?
v & c) Discuss with the help of suitable examples. 3+3+10
4. What are the different kinds of Sakti of ajfiana ? Explain their nature and effects
50 + & e b )
~ after Vedantasara 2 Bghsl. 2+ 14
5 5. a) Explain the nature of following actions ( Karmas ) and distinguish between
t b
them :
Y+ S0
Nitya Karma, Naimittika Karma, Kamya karma and Ni._siddha karma.
8+ 53 b) Which actions should be performed by a person aspiring for liberation ? Which
should not be performed by him ? Why ? 10 + 6
6. Explain how the statement “Tattvamasi’ leads to the awareness that Jivatman and
Brahman are identical. 16
D = 20 . - 3
7= a) Discuss the definition of Iswara as given in Vedantasara.
b) What is the distinction between Jiva and Iswara ? 12 + 4
8. a) What is Upasana ?
b) How does it help one in realizing the nature of Brahman ? 10+6
9. a) What are the arguments advanced by the Carvakas in support of the view that
and | self is identical with the body ?
b) How is this view refuted by the author of Vedantasara ? 8 +8

10.  How are the five great elements ( Pancamahabhutas ) produced ? Describe the

effects produced out of five great elements. 6 + 10
8 ol Exl;lain the difference between Parii_'lama and Vivarta.
“ b) Can the same thing be Parinama of one entity and Vivarta of another ? 4 + 12

+ 6
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( ENGLISH VERSION ')
Answer Question No. 1 compulsorily and any five from the rest.
1 Answer any four of the following : 4 x5 =20
a) How does Socrates refute the definition of Justice given by Cephalus ?
h =30 v b) What are the causes of war as envisaged by Plato in ‘The Republic’ ?

f | c) What, according to Plato, are the three parts of the human soul ? Explain. &Y

d) How are women placed in Plato’s education scheme ?
e) What, according to Plato, are the four cardinal virtues ? Explain in brief.
f) Explain Plato’s view on the difference between knowledge and belief.
g Determine the importance of music in Plato’s scheme of education.
h) Breifly write Plato’s Communism.
2, Does Plato accept the view ‘Justice is giving every man his due’ ? Discuss. 16
3. Discuss in detail Plato’s explanation of the different levels of cognition with the help
MY of the ‘allegory of the line’. 16
oY 4. What does Plato understand by ‘Idea of Good’ ? How does Plato explain the ‘Idea of
ENEN Good’ by the ‘analogy of the sun’ ? 8+8
gt B, How does Plato classify the citizens of his ideal republic ? Explain the place and
W’f function of the ‘Philosopher king’ in the republic. 6 + 10
R ° 6. Explain the place of children and women in Plato’s social structure. 16
PR
T Discuss Plato’s method of training for the guardian. Determine the importance of
b G} | Mathematics and Dialectics in Plato’s scheme of higher education. 8+8
+ b )
8. What does Plato mean by ‘Justice in the state’ ? In what respect does it correspond
Y to ‘Justice in the individual’ ? 8 + 8
9. What does Plato object to the union of political and economic powers in the same
At hand ? Answer with reference to Plato’s communism. 16
10. Do you think that Plato’s moral thoughts have been expressed through his political
oY ‘ theorizing in "The Republic’ ? Discuss. 16
&l 11. Discuss after Plato, the analogy between the operation of society as a whole and the
Y | soul of any individual human being. 16
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( ENGLISH VERSION )

Answer Question No. 1 compulsorily and any five from the rest.

Answer any Jfour questions : : 4x5=20
a) What is knowledge by acquintance ?

b)  How does Russell distjnguish between appearance and reality ?
c) What does Russell mean by sense-data ?

d) How does Russell distinguish between knowledge and. belief ?

e) What are the main criticisms of Russell against Berkeley's Idealism ?

f) What are the two parts of the principle of induction ?
g What does Russell mean by a physical object ?

h) What is a priori Knowledge ? What according to Russell, are the objects of this
knowledge ? L

What is an appearance ? Can we identify reality with appearance ? Answer after
Russell. 6 + 10

Does matter exist ? Is it possible to prove the existence of matter ? If not, why do we

believe that matter exists ? Critically discuss. : 4+6+6

Explain clearly the distinction between knowledge of things and knowledge of truths.
Give afterl(R};sseH a critical account of knowledge by description. 4 + 12

What are ‘universals’ ? ‘Universals do not exist but subsist or have being.” Explain
with reference to Plato and Russell. 4 + 12

State and explain the fundamental laws of thought. What is the importance of these

laws ? Discuss after Russell. _ 8 +8
Explain Descartes’ method of systematic doubt following Russell. 16
Critically discuss Russell's view regarding knowledge, error and probable opinion. 16

Is there any reason for believing in uniformity of nature ? Answer with special

reference to Russell. 16
Explain and examine Russell's view regarding the correspondence theory of truth. 16

Discuss in detail the value of Philosophy in the light of Russell's view. 16
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( ENGLISH VERSION )

Q. No. 1 is compulsory. Answer another five questions from the rest taking at least

two from each Section.

Answer ahy Jour questions : : 4 x5 =20
a) How doeé. the principle of Exportation validate the rule of Conditional Proof ?
Discuss with example. ‘ .
b) Show how the ‘truth tree method' can be used to test consisténcy.
c) What is a counter example ? Give example.
d) What is meant by ‘Universe of Discourse’ ?
e) What is wrong with the following argument ?
Socrates is a man,
Men are numerous
Socrates is numerous.
f) Disﬁnguish between a negative and a primative term“with examples.
What is Summum Genus and Infima species ?
h) What is logical division ? 2
SECTION - I
a) What is reductio ad absurdum method ? Give an example. 4
b) Prove the validity of the following argument by the method of Conditional
Proof. : 7 4
If you plant tulips, then your garden will bloom early. If you plant asters, then
your garden will bloom late. So, if you plant either tulips or asters, then your
garden will bloom either early or late.
c) Construct an indirect proof of validity for the following arguments : 4+4

i) X rn YN Y 5 B

ii) If Argentina or Brazil joins the alliance then both Chile and Mexico will
‘boycott it. Therefore, if Argentina joins the alliance then Chile will
boycott it.
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What are the advantages of the truth tree method over the truth table method
as a method of testing validity of arguments ? Explain. 4

Use truth tree method to tell whether the following sentence is a tautology.

(P Pk« Q&R <IRAEF. T - 4
Use truth tree method to test the‘ validity of the following arguments : 4 +4
i Ao B
AVB
A&B.

ii) Both Arun and Barun are guilty. But either Arun and Tarun are guilty or
: Barun and Tarun are guilty. Both Barun and Tarun cannot be guilty.
- Therefore, Tarun is not guilty.

Explain the Law of Existential Distribution ( LED ) with an example. 4

Prove by the me%hod of existential conditional that FESAPO is an invalid mood.
: 4

Teét the validity of the following arguments by the method of Existential
Conditional : , 4 + 4

i) Dates are edible. Only items of food\arc edible. All items of food are
good. Therefore, all dates are good.

ii) All juicy oranges are sweet. All oranges are sweet or juicy. Therefore all

oranges are sweet.
Prove that there is one and only one empty set. ol

There is a close relationship between saying that something has a property and
saying that it belongs to a class. Explain. ) 6

Let, oW {1,2,3,4,5,6} A={1,2}

B {3.4.5}), C= {2,5,6]).

Show that
i) [(AUC)~(BNV)IU~A
ii) (BN~C)UI(AN A)UB]I 2x3
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Translate the following sentences into set theoretic notation :
b} Men are mortal

ii) Dogs are a species : :

iii) -~ Any one is attractive if he is dark and tall.

iv) Some philosophers are neither materialist nor theist.
Which of the following statements are true for all sets A, Band C ?
i) “IfAe Band B c(C, then A cC

i) If AcBand Bg C,then A cC.

Let

A = The set of all even positive integers.

B = The set of all integers which are greater then 10.

Find the following :

AUB A~B
Ail)-B B~ A.
SECTION - II

Distinguish between concrete-and abstract terms.

-Can adjective be called abstract term ? Discuss.

PHIA (HN)-08

4x1

8
2

8. What is a predicable ? Give the Porphyrian list of predicables. On what grounds does

Joseph reject the Porphyrian classification of predicables ?

nethod " 3
4
gy
4
4+ 4
b)
c)
liity or
guilty.
4
mood.
4
ential
4+4 7. A
d are b)
re all
9. a)
4
b)
and
6 10. a)
b)

x3

4 +2+ 10

What is definition ? What is division ? What is the relation between them ?

Explain with suitable examples the rules of Logical division.
What is divislon“by dichotomy ?

Evafiuate the following definitions :

i) A piece of chalk into whiteness, extension and hardness.

ii) Men into tall, honest and intelligent

‘iii) Terms into singular, general and abstract.

iv) Number into even, odd and fraction.

3+3+3
7

4

4x3
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Write notes on any two of the following :

i)

Property and Accident

i) Word and Term
iii) Too narrow, too wide and circular definition.
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( ENGLISH VERSION )

Answer Question No. 1 and any five from the rest.
Answer any four of the following :
a) Give an acceptable definition of suicide.
b) What is meant by ‘racial discrimination’ ?
c) Can a non-human animal be treated as a person ?

d) Discuss the radical view of feminism.

e) Why should we protect nature ?
f) What is the difference between Deep and Shallow Ecology ?
g Explain, in brief, the concept of ‘Reverence for life’.

h) What is meant by ‘Just war’ ? Explain in brief.

i) Analyse the concepts of ‘crime’ and ‘punishment’.
j) What do you mean by ‘Relative Poverty’ ?
Discuss the arguments for and againSt euthanasia. 8+8

What is meant by Feminism ? Discuss, in this connection, the theory of liberal
feminism. 6 + 10

Distinguish between anthropocentric and non-anthropocentric ethics. Is any one of
these or both the subjéct matter of Practical Ethics ? Discuss. 10 + 6

What do you mean by human rights ? Discuss the main characteristics of human

rights. 4+ 12
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6.

What is meant by Environment ? Explain, in this connection, the Nature of
Environmental Ethics. ' 4 + 12

What do you mean by terrorism ? Is terrorism ethically permissible ? 4 + 12
Discuss the arguments for and against capital punishment. 8+8
What is punishment ? Discuss any two theories of punishment. 4+6+6

What is the cause of discrimination in society ? Do y(')x‘i' support the principle of

reservation as a means for compensating discrimination ? 4+ 12
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( ENGLISH VERSION )

Answer Question No. 1 and any five from the rest.

Answer any four of the following 5

a) What is bourgeois democracy ? Explain after Marx.
b) What is meant by ‘class conflictless society’ ?

) Who are proletariats ?

d) Among which classes is there fundamental contradiction in feudal society ?
e) What is meant by alienation ?

f) What do Marx and Engels mean by recurrent crisis of capitalism ?

g Explain the characteristics of the class of Lumpen proletariats.

h) State five important measures, as recommended by Marx and Engels, for the

establishment of socialism.
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Explain, after Marx and Engels, the origin and development of the proletariats as a

class. : 16

What is guild system of production ? How does it differ from manufacture ?
Describe, in brief, the transition of manufacture to machinofacture. 4+4+8

What are the modes of production and productive relation ? Why are they called the

basis of society ? _ ' 8+8
What is capital ? How does the process of accumulation of capital relate to the origin
and development of the capitalists ? 4 + 12
Briefly discuss Marx and Engels’ view on private property and family. 16

Who are Utopian socialists ? State some of the arguments of Utopian socialism. How
do Marx and Engels criticise these arguments ? 4+6+6

Who are communists ? How are they related to the proletariats ? How do Marx and

' Engels éxplain the difference between communists and socialists ? 4+4+8

How would state, as an apparatus of class exploitation, be withered away ? Discuss
after Marx and Engels. : 16

Why, accofdmg to Marx, is the basis of society an economic one ? Why is this theory
of Marx called materialistic interpretation of history ? 8 +8

Give a critical exposition of the Marxian view of revolution. 16




